BK

Bjorken

Partavling, handikapp 2022-08-09

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac  Par Poéng % Namn MID Klubb
1 2 173.0 60.07  Karin Ankel - Kenneth Ankel 200740 200722 BK Bjorken
2 1 171.0 59.38 Lennart Schrewelius - Monika Strand 84883 5421 BK Bjorken
3 14 163.6 56.80 Bengt-Olof Norrbom - Kerstin Norrbom 64062 64063 BK Bjorken
4 8 160.2 55.63  Britt Lundquist - Marianne Laitinen 11126 7378 BK Bjorken
5 3 154.7 53.70 Rolf Kullberg - Bengt Forsstrém 30525 42059 BK Bjorken
6 5 144.7 50.24 Gull-Mari Rosén - Per Hedqvist 37201 36317 BK Bjorken
7 11 143.7 49.88  Krister Persson - Odd Stokka 8789 18637 BK Bjorken
8 9 141.1 48.98 Goran Olsson - Bo Lundin 15930 14818 BK Bjorken
9 7 139.9 48.57  AIf-T Nilsson - Jan Johnson 17450 21635 BK Bjorken
10 4 136.9 47.53  Bengt Hahne - Hans-Olov Gustafsson 3358 5401 BK Bjorken
11 6 132.5 46.00 Ingemar Lindgren - Leif Sandberg 34514 91381 BK Bjorken
12 12 121.6 42.22 Einar Lestander - Ingrid Olofsson 78659 36321 BK Bjorken
13 10 117.6 40.84  Asa-Lena Stahl - Christina Lidstrém-Nordin 19673 38619 BK Bjorken
14 13 115.7 40.17 Louise Lundstrém - Linnea Lundgvist 84364 27017 BK Bjorken
1 4D Basta kontrakt 2 4 K10653 Basta kontrakt 3 432 Basta kontrakt
Nord vDKn 5NT O =-460 Ost v K82 54 O D-1100 Syd v 1064 24 S =110
Ingen + E9632 NS + Kn765 ov ¢+ E5
#D10982 & ¢ v & NT &K & ¢ v & NT #EK8743 & ¢ v & NT
4Knl08 4E54 N4 3252 492 a7 N 3 5 10104 4ED74 495 N7 7687
vE84 v K1095 S 43252 v 105 vKn74 S 3 5 10104 vKn832 vK95 S776 87
¢ K1075 ¢ DKn8 O 8 10108 11 + EK94 + D82 O 108 3 2 3 410987 ¢ KKn4 056 655
*K74 #EKn5 V 8 10108 11 #Kn6532 #E109874 V 108 3 2 3 a5 #DKn1062 V 5 6 6 4 5
& K97632 « EDKn84  KKn1086
v 7632 v ED963 vED7
*4 + 103 + D632
#63 «D *9
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
2 5 INV+H +6 -210 120 00| 2 5 44 S+1 ¢A 650 11.0 10|13 2 3NS+1 ¢7 430 12.0 0.0
3 11 3NO+1 46 -430 70 50| 8 14 44 S+1 v5 650 11.0 10| 4 12 3NS= ¢9 400 10.0 2.0
4 6 3NO+1 +4 -430 70 50| 3 11 4v S= ¢A 620 40 80| 1 8 3NS-1 v2 -50 7.0 5.0
8 14 BNO+1 46 -430 70 50| 4 6 44 S= ¢A 620 40 80| 9 14 3NS-1 ¢7 -50 70 5.0
9 10 BNO+1 43 -430 70 50| 9 10 44 S= ¢A 620 40 80| 3 6 3NS-4 v2 -200 3.0 9.0
12 7 3NO+2 ¢4 -460 20 100(12 7 44 N= &A 620 40 80| 5 7 3NS-4 v3 -200 3.0 9.0
13 1 3NO+3 42 -490 0.0 120|13 1 44 S= ¢A 620 40 80|10 11 3NDS-3 3 -500 0.0 12.0
4 «Knl0 Bésta kontrakt 5 46 Bésta kontrakt 6 # Kn108542 Bésta kontrakt
Vast v 1062 2¢ V =-90 Nord v E9854 5¢ O D-3500 Ost v Kn965 54 S =450
Alla + DKn63 NS +5 ov +8
#E432 & ¢ v & NT #EKn10876 & ¢ v & NT #109 & ¢ v & NT
486432 &7 N6 55 7 7 | 4aDKn109874 «- N 115 8 6 5 4 K3 496 N 106 5 116
vE74 vKD53 S 655 7 7 | vD1073 v 62 S 104 8 6 5 vD4 vEK10832 S 106 5 116
¢ K7 ¢ E9842 O6 87 66 |+6 ¢ EKD1097320 2 8 3 6 7 ¢ Kn10954 ¢ D63 036727
D86  #Kn75 V68766 |4 #K53 V28367 #Kn532 *84 V36727
& EKD95 & EK532 «ED7
v Kn98 v KKn v7
+ 105 + Kn84 ¢ EK72
#K109 «D92 #EKD76
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 8 INS+4 ¢+9 210 120 00|11 12 5¢DO-2 «A 300 120 00| 4 7 44 N+1 vA 450 10.0 2.0
4 12 INN+3 +6 180 100 2.0|14 10 5¢ O-2 »2 100 100 20| 5 1 44 N+1 vA 450 100 2.0
5 7 INN+1 2 120 80 40| 2 9 4¢0-1 a A 50 50 70|11 12 54 N= vA 450 100 2.0
10 11 24 S= *6 110 6.0 60| 4 7 4¢0-1 oA 50 50 7.0({14 10 3 S+1 vQ 130 6.0 6.0
13 2 INN= v5 90 40 80| 6 8 4¢0-1 aA 50 50 70| 2 9 3&4S= vQ 110 40 8.0
9 14 24 S-1 va -100 20 100(13 3 44 O-1 a A 50 50 70| 6 8 44S-1 *J -50 2.0 10.0
3 6 24S-2 +K -200 0.0 120 5 1 3vyN-2 ¢ A -200 0.0 120|13 3 5#S-3 ¢4 -150 0.0 12.0
7 410984 Bésta kontrakt 8 « ED754 Bésta kontrakt 9 & EK10 Bésta kontrakt
Syd v EK953 64 S =1430 Vast v EKn62 44 V D -1 100 Nord v DKn10654 4v N =420
Alla .7 Ingen 41032 ov + E93
#K98 & ¢ v o NT #9 & ¢ v & NT *Kn & ¢ v & NT
476 «D5 N 126 11127 4103 4K62 N4 8896 4Kn865 4D72 N5 5 107 9
v1084 v DKn2 S 126 11127 v9853 v104 S 48896 v7 v3 S 55 107 9
+K953 ¢ED10862 O 1 6 2 0 2 +KD9 ¢ Kn54 0954146 ¢+ KKn72 10864 088 36 4
#6432 #Knl0 V162202 #E742 #KD1086 VI95448¢6 #K842 &E10765 vV 8836 4
& EKKn32 4 Kn98 4943
v76 vKD7 v EK982
¢+ Kn4 + E876 + D5
#ED75 #Kn53 «D93
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
7 9 44 S+3 a7 710 120 00| 3 10 34 N= &K 140 11.0 10| 1 2 4v N= &A 420 8.0 40
3 10 44 S+2 ¢+5 680 70 50(12 1 24 N+1 &K 140 11.0 10| 4 11 4v S= 46 420 8.0 4.0
5 8 44 S+2 +5 680 70 50| 5 8 44N-1 +K -50 50 70| 7 3 4¢vyN= ¢6 420 8.0 4.0
6 2 44 S+2 vT 680 70 50| 6 2 44 N-1 &K -50 50 70| 8 10 4v N= «A 420 8.0 40
13 4 44 S+2 47 680 70 50| 7 9 44 N-1 *K -50 50 7.0(12 14 4y N= «A 420 8.0 4.0
14 11 44 S+1 ¢+5 650 2.0 100|14 11 34 N-1 +K -50 50 70|13 5 6vyN-1 *A -50 2.0 10.0
12 1 24 S+4 ¢5 230 0.0 120(13 4 4vy N-3 &K -150 0.0 120 6 9 6v N-2 *A -100 0.0 12.0
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10 410862 Basta kontrakt 11 47632 Basta kontrakt 12 4 D842 Basta kontrakt
Ost vE753 3¢ O =-110 Syd v10 4ANT S =430 Vast vE4 54 V =-450
Alla + D5 Ingen + EK42 NS 4983
#Kn52 & ¢ v & NT #EK106 & ¢ v & NT #Kn754 & ¢ v & NT
« EKD4 493 N4 4656 48 «EDKn109 N 118 6 9 10 « E953 « KKn106 N6 6 213
v92 v K86 S44656 v KKn86543 v D9 S 118 6 9 10 vKD1073 v962 S66 213
¢ E109762 ¢ 84 089776 + 1087 ¢ Kn653 013743 +6 ¢ EDKn4 O7 6 10119
&K #D87643 V89776 #Kn9 &54 V13743 #E83 #96 V 6 6 10119
4 Kn75 & K54 a7
v DKn104 vE72 v Kn85
4 KKn3 +D9 + K10752
*E109 #D8732 #KD102
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 11 2v S-1 s A -100 120 0.0| 7 10 54 N+1 vQ 420 120 00| 2 3 4v V-l +9 50 100 2.0
6 9 340-= vQ -110 90 30| 9 11 54S= 48 400 100 20| 5 12 3NV-1 &4 50 100 2.0
13 5 3¢ V= vA -110 90 3.0 2 3 4v0-3 ¢A 150 80 40|13 6 4v V-1 a2 50 100 2.0
8 10 3¢ V+1 vA -130 50 70| 1 14 3v V-2 «A 100 40 80| 1 14 3v V+1 a4 -170 6.0 6.0
12 14 3¢ V+1 &) -130 50 70| 5 12 3v V-2 «A 100 40 80| 7 10 4v V= vA -420 3.0 9.0
1 2 1laV+2 +Q -140 20 100| 8 4 3v V-2 K 100 40 80| 8 4 4v V= a4 -420 3.0 9.0
7 3 29y N-2 49 -200 0.0 120(13 6 2v V-1 A 50 0.0 12.0( 9 11 44 V+1 +3 -450 0.0 12.0
13 » EK92 Bésta kontrakt 14 « ED7 Bésta kontrakt 15 « D6 Bésta kontrakt
Nord vD2 44 N =620 Ost v D7 5NT S =460 Syd v 9754 54 V =-450
Alla ¢ E2 Ingen ¢ E4 NS + 10963
#KD1043 & ¢ v & NT #KD9853 & ¢ v & NT #D43 & ¢ v & NT
43 4 Kn1087 N 105 5 107 4 Kn5 498642 N 119 109 11 4 K9742 4 EKn3 N43322
vKn87654 vE93 S 105 5 107 vK864 v932 S 119 109 11 vEKn2 vK106 S43322
+ D863 ¢ Kn1094 037733 4973 ¢ DKn65 023332 ¢+ K ¢ DKn742 O 9 10101110
»E6 »82 V37733 #E1064 %2 V23332 #K1076 %92 vV 9 109 1110
D654 4 K103 41085
v K10 v EKn105 v D83
+ K75 + K1082 ¢ E85
#Kn975 *Kn7 #EKn85
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
14 2 3NN+2 47 660 120 00| 9 5 5NN+1 «2 490 120 00| 4 5 4aV-1 L X 50 11.0 1.0
3 4 44 S= «A 620 70 50| 8 11 3NS+2 v6 460 100 20| 9 12 4a4 V-1 +6 50 11.0 1.0
8 11 44 N= vA 620 70 50(13 7 3NN+1 49 430 80 40| 7 2 34V+2 *T -200 8.0 4.0
10 12 44 S= v] 620 70 50(14 2 34S+2 aJ 150 6.0 6.0[10 6 44 V= *T -420 50 7.0
13 7 44 S= «A 620 70 50(10 12 6NS-1 v4 -50 40 80|13 8 4a4 V= *3 -420 50 7.0
9 5 5&N= vA 600 20 100 3 4 64 N-2 +Q -100 1.0 110|11 1 44 V+1 LX) -450 1.0 11.0
6 1 3NS-2 v7 -200 0.0 120 6 1 6#N-2 49 -100 1.0 11.0|14 3 44 V+1 +3 -450 1.0 11.0
16 442 Basta kontrakt 17 485 Basta kontrakt 18 » EK108 Basta kontrakt
Vast vED10 2¢ V =-90 Nord vED743 5& O =-400 Ost v54 4ANT N =630
oV + EKn6 Ingen + DKn1042 NS + D108
#D9764 & ¢ v & NT 3 & ¢ v & NT # D965 & ¢ v & NT
+ EK9 #1063 N856 77 4 EKNG42 473 N2 8835 49543 & D76 N 109 6 9 10
v 532 v KKn87 S845 77 v9 v 865 S 28835 v109 v ED8732 S 109 6 9 9
¢ D1042 ¢ K953 048766 + K6 ¢ E53 O 114 4 9 8 ¢ E542 +63 033743
#1052 #Kn8 V48766 #D9864 &#EK1075 V 114 4 9 8 K42 107 V33743
 DKn875 4 KD109 & Kn2
v 964 v KKn102 v KKn6
+ 87 4987 + KKn97
#EK3 *Kn2 #EKn83
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
9 12 INN+2 v7 150 120 00|11 7 44DV-4 +Q 800 120 00(10 1 3NS= vT 600 120 0.0
7 2 24 S+1 ¢4 140 100 20|12 2 Pass 100 20|11 7 24DV-3 &6 500 100 20
11 1 2NN= v3 120 80 40| 5 6 4vN-1 A -50 80 40| 8 3 2NS+1 @3 150 8.0 4.0
4 5 24 S= T 110 50 7.0(13 9 4vDN-1 &7 -100 6.0 6.0 4 14 3¢ S+1 v9 130 50 7.0
14 3 3&N= v5 110 50 7.0 8 3 INO+1 #2 -120 40 80|12 2 34S+1 v9 130 50 7.0
10 6 24 N= v8 90 20 100| 4 14 44 0-= vK -130 20 100 5 6 2v0-2 ] 100 2.0 10.0
13 8 3NN-1 +3 -50 00 120({10 1 54DO= ¥K -550 00 120(13 9 2v V-1 s A 50 0.0 12.0
19 4872 Bésta kontrakt 20 « EDKn97 Bésta kontrakt 21 4« Kn8 Bésta kontrakt
Syd vKD93 44 S =420 Vast v KKn92 34« N =110 Nord v ED1094 3NT N =600
oV + Kn10743 Alla ¢ E32 NS + D753
*3 & ¢ v & NT *4 & ¢ v & NT #65 & ¢ v & NT
4 E5 496 N 6 106 107 2 K643 #1085 N9 6 8 86 «K9642 453 N7 98809
vKn7542 vE106 S 6 106 107 vE74 v1083 S96 886 vKn v K8532 S798709
4952 + E86 073735 ¢ 1054 ¢ KDKn98 036 457 410942 +E6 06 455 4
*KD7 #109654 V73735 K82 &E9 V37457 #972 #KD108 V54554
» KDKn1043 a2 « ED107
v8 v D65 v76
+ KD 476 + KKn8
#EKn82 #DKn107653 #EKn43
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 14 44 S+1 ¢2 450 120 00| 9 4 3¢ 0-2 42 200 11.0 10({10 5 INN+2 v2 150 120 0.0
6 7 44 S= aA 420 80 40(12 8 3¢ O0-2 a7 200 11.0 10|14 6 2NS= a2 120 100 2.0
9 4 44 S= v5 420 80 40| 5 14 3v N= +J 140 80 40| 1 9 2¢N= a5 90 8.0 4.0
11 2 44 S= ¢9 420 80 40|11 2 14 N+1 &A 110 6.0 60| 2 4 1s4S-= v] 80 6.0 6.0
1 3 34S+1 v2 170 40 80| 6 7 3¢0-1 a2 100 40 80|13 11 240= 4 A -90 40 8.0
12 8 44 S-1 v7 -50 10 110 1 3 5#S-2 vA -200 20 100| 7 8 24S-2 vJ] -200 1.0 11.0
13 10 44 S-1 &K -50 1.0 11.0|13 10 3NS-4 ¢+ K -400 0.0 120(12 3 2¢ N-2 &K -200 1.0 11.0
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22 4 D107 Basta kontrakt 23 4 K9 Basta kontrakt 24 4 K83 Basta kontrakt
Ost vE107 3v S =140 Syd v Kn98542 4ANT N =630 Vast v D943 ANT N =430
ov + KDKn82 Alla + EKKn Ingen + K94
»87 & ¢ v & NT #54 & ¢ v & NT #EKD LI Y
&« E42 4 863 N489 85 4 Kn8752 & ED3 N 6 5 105 10 & D52 + 10964 N7 998
v8 v Kn542 S489865 vK v73 S 6 5 105 7 v 85 v EK7 S7 998
4 965 ¢E4 09 3338 4109873 ¢ 642 058282 +E76 +83 06 345
#E109532 #KDKn4 V933338 83 #EDKN96 V58272 #Kn7632 #10954 V6345
& KKn95 41064 & EKn7
v KD963 vED106 v Kn1062
41073 + D5 + DKn1052
*6 #K1072 *8
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 9 3vS= &A 140 11.0 10| 2 10 4v N= &A 620 120 00| 1 4 3NN+1 vA 430 11.0
2 4 3vyN= &A 140 11.0 10( 1 4 3vy N+1 ¢3 170 80 40(14 7 3NN+1 vA 430 11.0
7 8 3¢ N+1 «K 130 80 40| 8 9 3vy N+l w7 170 80 40| 2 10 4vN= a6 420 6.0
12 3 3¢ N= «K 110 6.0 60|11 6 3y N+1 v7 170 80 40|11 6 4vy N= T 420 6.0
14 6 4&V-1 ¢J 100 40 80| 3 5 3vyN= &A 140 3.0 9.0(13 12 4y N= ¢+8 420 6.0
10 5 4vS-1 LY. -50 20 10013 12 2vy N+1 &A 140 30 90| 8 9 INN+2 &T 150 20 1
13 11 24V +1 vA -110 0.0 120(14 7 4vy N-1 v7 -100 0.0 120 3 5 3NN-1 a4 -50 00 1
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